Runoff Curve Number (RCN) Method

Your task
1. Refer the Table 1 showing land-use distribution areas in the watershed (file of land use-land cover).

2. Using the CN tables, look up the corresponding CN for each type of Land Use type.
 
3. Using the gathered CN, calculate the average CN for the watershed. Assume a Soil group “B” for all areas and soil condition is good.

4. Calculate the total rainfall depth in cm from the rain gauge.  

5. Based on the total rainfall calculated in the previous step, calculate the resulting runoff depth for the given land use condition.  Assume average AMCII.

6. If the antecedent condition was AMC I, what would be the new runoff?

7. If the antecedent condition was AMC III, what would be the new runoff?

